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Place Value and Number

	Year 5 Learning Booklet


Read, write, order and compare numbers to at least 1 000 000 and determine the value of each digit

Count forwards or backwards in steps of powers of 10 for any given number up to 1 000 000










 

















	






Round any number up to  
1 000 000 to the nearest 10, 100, 1000, 10 000 and 100 000


-Interpret negative numbers in context, count forwards and backwards with positive and negative whole numbers, including through zero


[bookmark: _GoBack]Round any number up to  
1 000 000 to the nearest 10, 100, 1000, 10 000 and 100 000
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| am counting up in
10s from 184
I will include 224

|'am counting up in
100s from 604
I will include 1,040

Rosie

1 .am counting up in
1000s from 13
1willinclude 130000

Jack

Who has made a mistake?
Identify anyone who has made a mistake
and explain how you know.




image7.png
Daniel writes the first five numbers of a
sequence.

They are
3,666,4,666, 5666, 6,666, 7,666

The 10" term will be
15,332 because | will
double the 5” term.

Is he correct?
Explain why.
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7503 cars go over a bridge in
February. 1000 cars go over the sam:
bridge in March.

How many cars go over the bridge
altogether?

A car has 34 678 miles on the
milometer, but it had already travelled
100 000 s,

How many miles has it travelled
altogether?
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Clark says that 233,090 in
words is two hundred and thirty

Ryan says that fifty five
thousand, three hundred and
three hundred, and ninety in twenty is 550,320 in digits.

words.
Can you explain why he is wrong?

Can you explain why he is wrong?
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Order the following numbers from smallest to largest:
1) 12,355 55,210 56,124 4123 455,695 458,321

2) 56,555 98,456 101,639 101,632 98,561
19,459

3) 1,526,456 1,563,000 2,569,412 526,321
1,525,456
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Simon says he can order the following
numbers by only looking at the first
three digits.
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Lola has ordered five 5-digit numbers.

The smallest number is 53450, the largest number is 53650.
All the other numbers have digit totals of 20.

What could the other three numbers be?

Can you find more than one solution?




image13.png
M Circle and correct the mistake in each sequence.

« 7875 8875 9875, 11875, 12,875, 13875, ...

©  B64,664, 764664, 664664, 554664, 444664, ...
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Jack

Who has made a mistake?
Identify anyone who has made a mistake
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Daniel writes the first five numbers of a
sequence.

They are
3,666,4,666, 5666, 6,666, 7,666

The 10" term will be
15,332 because | will
double the 5” term.

Is he correct?
Explain why.
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7503 cars go over a bridge in
February. 1000 cars go over the sam:
bridge in March.

How many cars go over the bridge
altogether?

A car has 34 678 miles on the
milometer, but it had already travelled
100 000 s,

How many miles has it travelled
altogether?
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Clark says that 233,090 in
words is two hundred and thirty

Ryan says that fifty five
thousand, three hundred and
three hundred, and ninety in twenty is 550,320 in digits.

words.
Can you explain why he is wrong?

Can you explain why he is wrong?
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Temperature Word Problems

The temperature inside is 15°C and
outside is ~2°C. What is the
difference in temperature?
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Temperature Word Problems

The temperature in the fridge is 4°C.
The temperature in the freezer is
21°C lower. What is the temperature

in the freezer?
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Temperature Word Problems

Ice cream is served at -11°C. The
temperature in the room is 21°C.
How much warmer is the room

than the ice cream when served?
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Temperature Word Problems

When salt is added to ice, the temperature drops.
Before the salt was added, the temperature
was -2°C. After the salt was added the

temperature was -13°C.
By how much did the
temperature drop?
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True or False?

*  The temperature outside is —5
degrees, the temperature inside is 25
degrees.

The difference is 20 degrees.

+  Four less than negative six is
negative two.

* 15 more than —2is 13

Explain how you know each statement is
true or false.
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Temperature Word Problems

The temperature inside is 15°C and
outside is ~2°C. What is the
difference in temperature?
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Temperature Word Problems

The temperature in the fridge is 4°C.
The temperature in the freezer is
21°C lower. What is the temperature

in the freezer?
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Temperature Word Problems

Ice cream is served at -11°C. The
temperature in the room is 21°C.
How much warmer is the room

than the ice cream when served?
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Temperature Word Problems

When salt is added to ice, the temperature drops.
Before the salt was added, the temperature
was -2°C. After the salt was added the

temperature was -13°C.
By how much did the
temperature drop?
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True or False?

*  The temperature outside is —5
degrees, the temperature inside is 25
degrees.

The difference is 20 degrees.

+  Four less than negative six is
negative two.

* 15 more than —2is 13

Explain how you know each statement is
true or false.
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. Complete the table.

1242 | |
| 470 |
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Using the number cards 0-9, can you make numbers that fit the
following rules, using each digit only once?

0123456789

When rounded to the nearest 10, | round to 20
When rounded to the nearest 10, | round to 10
When rounded to the nearest 1000, I round to 1000

When rounded to the nearest 100, 1 round to 7200
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My number rounded to the
nearest 10 is 1150
Rounded to the nearest
100 it is 1200
Rounded to the nearest
1000 itis 1000

Jack

What could Jack's number be?

Can you find all of the possibilities?
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Teddy

4,725 to the
nearest 1000 is
5025

Explain the mistake Teddy has made.
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For each number, find five numbers that round to it when rounding
to the nearest 100
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. Complete the table.

1242 | |
| 470 |
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Using the number cards 0-9, can you make numbers that fit the
following rules, using each digit only once?

0123456789

When rounded to the nearest 10, | round to 20
When rounded to the nearest 10, | round to 10
When rounded to the nearest 1000, I round to 1000

When rounded to the nearest 100, 1 round to 7200
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My number rounded to the
nearest 10 is 1150
Rounded to the nearest
100 it is 1200
Rounded to the nearest
1000 itis 1000

Jack

What could Jack's number be?

Can you find all of the possibilities?
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Teddy

4,725 to the
nearest 1000 is
5025

Explain the mistake Teddy has made.
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For each number, find five numbers that round to it when rounding
to the nearest 100
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Order the following numbers from smallest to largest:
1) 12,355 55,210 56,124 4123 455,695 458,321

2) 56,555 98,456 101,639 101,632 98,561
19,459

3) 1,526,456 1,563,000 2,569,412 526,321
1,525,456
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Simon says he can order the following
numbers by only looking at the first
three digits.
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Lola has ordered five 5-digit numbers.

The smallest number is 53450, the largest number is 53650.
All the other numbers have digit totals of 20.

What could the other three numbers be?

Can you find more than one solution?
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M Circle and correct the mistake in each sequence.

« 7875 8875 9875, 11875, 12,875, 13875, ...

©  B64,664, 764664, 664664, 554664, 444664, ...




